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G  #/k I B K 4 S E-3 P FOER (RT.)
1 774 X BrR KWL (£ 4 k<> 93 =1 26.28 ( 0.54)
2 5 8 & B i @K KSGHER 91 =3 26.31 (0.47)
3 172 X R 28 Ehs KIEAKEE 92 =3 26.35 ( 0.51)
4 53 K MR &£H EBEFx KBRKikZER 92 =2 26.58 ( 0.58)
5 7/ 6 & M ERNME EHFY T 93 =1 26.71 (0.54)
6 9/ 6 & % Bl BA ZEHESC 92 =2 26.74 ( 0.51)
7 777 % £ =M EK 2 UBE 91 =3 26.78 ( 0.54)
8 /75 % K AR £A BEENSS 92 =2 26.81 ( 0.54)
9 94 F XN = —B 2ls 91 =3 26.90 ( 0.55)
10 8/8 B E &£F Hig HIRFSS 92 =3 27.10 ( 0.53)
11 /4 & W HEK —F VY vAKE 91 =3 27.17 ( 0.54)
11 9/3 ® R XA f{HR BXELEE 93 = 27.17 (0.51)
13 8/ 6 A JIl W& &HX J S SEI% 92 =2 27.25 ( 0.59)
14 2/ 8 F FE IR H# ¥ AEF A 93 =1 27.26 ( 0.55)
15 2/ 4 B KM FEF L2EES 92 =2 27.34 ( 0.54)
16 6/6 & %1 Kk =Hth 25 92 =2 27.60 ( 0.55)
17 9/ 7 B W BRE X ZEI1SC 92 =3 27.63 (0.48)
18 8/ 1 K Br /NIl FHF ABERXS 92 =2 27.64 ( 0.54)
19 55 F FE LK #FE PN TFE 92 =2 27.66 ( 0.54)
20 8/3 K IR KM Lt {7 ED 92 =2 27.70 ( 0.53)
21 8/4 B W KARREHE INVELTRE 93 =1 27.73 (0.53)
22 /3 % E mH HE kA 92 =2 27.85 ( 0.61)
23 57 [ U #WE N A—Lfst 92 =3 27.86 ( 0.55)
23 9/1 8 [ ®FIE &M BS K 93 = 27.86 ( 0.60)
25 /9 B M HA B L2EES 93 =1 27.90 ( 0.55)
26 9/9 ¥+ ¥ FH X& A7—EEH 92 =2 27.91 (0.57)
27 9/ 8 JLiBE K BHH {MUFLIRRRE 93 =1 27.93 ( 0.61)
28 410 X R mE EE {MUE B 92 =2 27.95 ( 0.54)
28 9/ 2 Rl FAH FEA U MIVKRERE 91 =3 27.95 (0.47)
30 2/3 B [E &% Bt KTVEK 92 =2 27.99 ( 0.60)
31 8/ 2 F FE K¥ #HF WY UrER 94 $3 28.00 ( 0.53)
32 4/ 3 B H0 pLE B ZHESC 93 =1 28.03 (0.47)
33 /76 X R BE —J% J—XAC 92 52 28.04 ( 0.54)
34 /5 W0 & &L 5 J4yvYSC 9% $3 28.06 ( 0.63)
34 4/ 8 B X1 By BX PREXPERES 92 =2 28.06 ( 0.53)
36 2/6 B E EHF &F JSSERIL 94 3 28.07 (0.52)
37 2/5 F ¥ AR #HE MUAE R 93 = 28.12 ( 0.54)
38 6/8 B K ME 4t HEXIISS 93 =2 28.14 ( 0.49)
39 9/10 Iy B KB FkE KiEEEESK 92 =2 28.16 ( 0.54)
40 8/ 9 WXl AR £ HiEZE 91 =3 28.19 ( 0.57)
41 36 F FE ZFEEKH KONAMI & 92 =2 28.21 (0.59)
41 51 #FR)Il KA X& LASSRE#H 93 =2 28.21 ( 0.54)
M 6/4 B R IBX Hz RE-EsH 92 =2 28.21 ( 0.52)
41 710 ® " &% B¥ WERDCELR 91 =3 28.21 ( 0.58)
45 6/10 3 &K FH+E#A AV AR B 93 =1 28.22 ( 0.54)
46 4/5 K BR #IR % ARy SC 92 =2 28.25 ( 0.61)
47 4/2 %8 B g R C—599SC 92 =2 28.26 ( 0.49)
48 31 1l B O EE 7" b-7-2 92 =2 28.30 ( 0.63)
49 37 H FE HE #y7WhSC 94 3 28.32 ( 0.55)
50 6/5 FH Il s &E S ¥yvH— 9 =2 28.35 (0. 60)
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G  #/k I B K 4 S 5 P FOER (RT.)
51 2/10 B = BH T Stylel 94 F3 28.36 (0.58)
52 778 K R HE &K #RILENIS 91 =3 28.37 ( 0.54)
53 3/10 dtigE @ —BF BHEEH>SC 93 =1 28.40 ( 0.54)
53 6/3 B H KB Ea71lmm 94 ==K} 28.40 ( 0.55)
55 5/ 4 [ U kB G L4SCHEW 93 =1 28.45 ( 0.52)
55 6/7 ® H mME IFiE MEEESKR 91 =3 28.45 ( 0.61)
57 3/ 8 W M LN B mENKAES 93 =2 28.49 (0.52)
58 2/ 1 & f0 hft ] S S CcEl 92 =2 28.54 ( 0.63)
59 46 ¥ E £ B ST VER 92 =2 28.62 ( 0.63)
60 6/ 1 &% [ h¥t #HF gy)y—veEs 92 =2 28.63 ( 0.52)
61 /71 #EI WA GEX KONAMI:EZ4% 92 =2 28.64 ( 0.46)
62 5 B E 5 IFEhRSS 94 ==K} 28.66 ( 0.62)
63 5/ 9 B R #HKX K BXEZELESK 92 =2 28.68 ( 0.54)
64 3/9 & 1 HFAR EKX A4 bR 94 $3 28.69 ( 0.49)
65 3/ 4 MEI F = KONAMI % F HT 92 =2 28.78 ( 0.56)
66 5/ 2 FFL #MR ETF BRI SR 91 =3 28.84 (0.56)
67 21T’ R AR BEA TAC 94 = 28.87 ( 0.58)
68 8/ 1 B E Fih #BK ka—sc 93 =1 28.88 ( 0.55)
68 8/10 ® IR Hk & JSCHiF 91 =3 28.88 ( 0.59)
70 41T 8 R IEXR B2 BER-#Esm 92 =2 28.89 ( 0.53)
71 5/ 6 M=)l &/ EEC rF— v 92 =2 28.92 ( 0.59)
72 /3 & [E #BE ,-?7( Allss 94 3 28.96 ( 0.58)
73 4 4 B R #F = JSCHF 91 =3 28.99 ( 0.56)
74 41 8 M FBO =X L2EES 92 =2 29.09 ( 0.61)
75 6/ 9 #HE)I AKX IZKER HEEE 93 =1 29.11 ( 0.56)
76 49 mEIl EH #ESs 93 =1 29.23 ( 0.52)
77 2/2 F E FHK BEH KONAMI & 93 =1 29.28 ( 0.51)
78 321/ X RE H® HEIThssS 93 = 29.40 ( 0.58)
79 2/9 B ® BAO = WIRSC 93 =1 29.41 ( 0.50)
80 33 K W HALE I AATYY 93 =1 31.11 (1.31)

5/10 X PR miH =t XIS 94 =1 ZiE

6/2 % E ®RiEE K= HriES C 92 =2 ZEiE

8/5 ¥ E ZH HE A4 VBB 92 =2 EiE

9/ 5 #W=I) TEE BN D-4-HY 93 = EiE

/71 & B £ =W EiESC 94 =1 Sk
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